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PRACTICE QUESTIONS OF MCQ ~ “

Q.1: Jairaj started from her house walked 20 km towards North. Now, he

took a right turn and moved 2 km. Again he took right turn and walked for 10
km. In which direction he is going?

' South
(@) North (b)
() East : (d) West
Answer:

10km

House

Moving t’owards

original position h

. ed upto 5 km. From the
e is'in which direction.
(a) North (b) South
{c) N-E o (dy SE
Answer: . :
20km
10| Skm.
ginal (&anP\ace)‘

Now he is in N-E direction,
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Q.3: Jai is going towards North upto 5 km he turned clockwise and moved
upto 4 km and he took right tum moved upto 2 km. Find his distance from the
start place.

(a) 2km (b) 3km
(c) 4km (d) 5km
Answer:
4km
r 4
5 \ 2km

5 km from the start point.

Q.4: A man walks 5 km toward South and then turns to the right. After
walking 3 km he tums to the left and walks five km. Now his direction from
starting point is? :

(a) West (b) North
(c) N-E (d) S-w
Answer:
S-W
7/
/
Ve
/ 5
/
o I/
//' 3 v
Bl
/

Q.5: From his house, Aditya went 15 km to the North. Then he turned west

and covered 10 km. Then he turnad South and covered 5 km. Finally tumning
to the East, he covered 10 km. In which direction is he from his house?

(a) East (b) South
(c) North (d) West
Answer: o
L
5kn
T 15km
Start poirt
He is in North.

Q.6: Aditya walked 20 m towards North. Then he turned right and walks
30 m. Then he turns right and walk 35 m. Then he turns left and walk 15 m.
Finally he turns left and walk 15 m. In which direction and how many meters
is he from the starting point?

(a) 15 m West (b) 30 m East
(c) 30 m West (d) 45 m East
Answer:
B 0Om /\ c
20m 3BEm

N
___________ F

A J 15m
D 1Sm E

Heis in 45 m in East,
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‘ o7: Starting from the points O, Vaibhav walked 15 m towards West. He
wmed left and walked 20 m. Again turned left and walked 15 m. Now he
; wmed to his right and walked 12 m. How far he is now from the point O.

i @) 32m (b) 47m

() 42m (d) 27m

| Answer: -

B

]

9

12m

- 0.8: One evening before sunset Aditya and Vaibhav were talking, to each
| otner face to face. If Vaibhav's shadow was exactly to the right of Vaibhav.
| Which direction was Aditya facing? i
(a) North

(b) South
(d) West

| Adiya was facing towards South.

Q.9: Jay(Starts from A) walked 5 m towards West, then turned left and
walked 5 m. again turned left and walked 5 m. again turned left and walke
6 m. How far he is from A. :

(@ 1m (b) 2m
(c) 3m (d) 4m
Answer:
.. ©
[
5m - hm
B A
' 5m 6m
e L~ . , .
c 2 D

5m

He is 1 m away.

Q.10: Raj started from point A, and walked towards West 4 m, then he
turned towards South upto 4 m. In which direction he is from start point.

(a) W-S (b) N-E
(c) South (d) West
Answer:
€ BA
4m Iid
- 7
3 ,/ - &
4m 7’
e
4
o
7
7
7
SEL

He is in South - Wési direction. ;
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Q.11: A boy rode his bicycle'Northward, then turned left and rode 1 km and -
again turned left and rode 2 km. He found himself 1 km West of his starting
point. How far did he ride Northward initially?

(@) 1km (b) 2km
(c) 3km (d) 4km
Answer:

C 1km B
s A
1km

The boy rode 2 km Northward.

Q.12: A man starts from a point, walk 3 km towards North, turns towards his

right and walks 3 km, turns right again and walk. What is the direction now
he is facing?

(@) South (b) North

(c) West (_d) East

Answer: . :
3km 3km

Facmg towards South.

Q.13: Sona walks 10 km towards West, then tums right and walks 10 km.
Again she take left turn and walk 10 km. She turned again towards left and
moved upto 10 km. Finally she tums right and walk 10 km. How far she is
now from start. :

- She is 30 m away from start point (A).

(a) 10 km (b) 20 km
(c) 1km (d) 2km
© Answer:
10
B
P
n”] V10
_
A 10
=10

(@) 10 km (b) 20 km
(¢) 30 km (d) 40 km
Answer:
10km
10km ~}- i 10km
; .| : <A
10km 10km

Q.14: A person moves towards.North upto n meters, then walked towargs B
East upto 10 km, then take right turn towards South and walked upto 10km, |
again he moved towards West.and reached at stan point. What is the valye
of n.

Q.15: Jai is in which direction of Ad|tya If Jai is 30 m S-W of Anjan. Aditya
is 30 m S-E of Anjan.

(a) West

b E 1
(c) -South ( ). e

(d) North
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Answer: '
2kr_n_/\ E
// ]
7
3km) P :
4
g 10km - -
7 I's
7z I
7 C 1
’ . 2km e 1
Jziis in West direction of Aditya. ] ot |
% i -’
| 0.16:Kis40 m N-E of L, M is 40 m N-W of L. Then M is in which direction & 1 -lo
ok . . .
() East (b) West _ : :
5 | () South (d) North . AE?= A0? + OE
| Answer: . AE2=122.4 52
L - AE=13 :
Q.18: The length and breath of a room are 8 m and 6 m respectively. A cats
runs along all the four walls and finally along a diagonal order to catch a rat.
How much total distance is covered by the cat?
(@) 10 ; “(b) 14
(c) 38 . (d) 48
Answer: . ’
A 8 B
| Misin West of K. 4 :
| 0.17: Aman walks 2 km towards North. Then he turns to East and walks 10 6
L km. After this he turns to North and walks 3 km. Again he tums towards East -
. and walks 2 km. How far is hee from the starting point?
 (3) 10km (b) 13km .
) 15km (d) 17km D c
= Perimeter + AC
= 28+ /B+&
28+10

o

38
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Q.19: A man starts from O and moved towards North 2 km, then take right
turn and moved 4 km. again turned towards North and walked utpo 1km
reached at'A. Find distance between OA.

(a) 6 . (b) 7
(c) 4 (d) 5
Answer:

OA2=0C?+AC?
OA=/T679=yB5=5
OA =5 km.

Q.20: One mormng Sujata started to walk towards the Sun. After covering
some distance she turned to right then again to the right and after covering
some distance she agaln turns to the right. Now in which direction is she
facing?

(a) North (b) South
(c) N-E (d) S-W-
Answer:

Lo B

D (o]

Sujata will face towards North.

Q.23: Ramiji is going towards East, after 12 km he takes a nght Right tum .

Q.21: One day morning after sunrise, Vimal started to walk. During this he
met Sheru who was coming from opposite direction. Vimal watch the shadoy -
of Sheru to the right of him (Vimal) to which direction Vimal was facing?

(a) South (b) North
(c) East (d) West
Answer:

(a) Sunrises in the East. So the shadow of a man will always fall towardg.
the West. Since the shadow of Sheru is to the right of Vimal. Hence
Vimal is facing towards South.

Q.22: Ramu is going towards North from his house. After covering a distance
of 6 km he turned towards left and covered a distance of 8 km. What is the
shortest distance from his house?

(@) 15km (b) 10 km
(c) 25 km (d) .20 km
Answer: - E

C

CA=/&+& =10

and travel upto 5 km. Find hlS shortest distance now from his ongmal place.

(@) 18km (b) 12 km
(c) 5km (d) 17 km -
Answer: b 1 &

12km
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Q.24: Shivam started from his house towards West. After walking a distance
of 15 km he turned to the right and walked 10 km. He again turned to the
right and walked 5 km. After this he is to turn right at135° and covered 10
km. In which direction should he go?

(d) South . (b) S-w

() SE (d) North

Answer:

(b) S-W

L <m—en

Q.25: Mr. AV started to walk straight towards South. After walking 5 m he
tumed to the left and walked 3 m. Now he turned to the right and walked 5

"' m now to which direction AV is facing?

(a) N-E
(c) West
Answer: (b) South

.(b) South
(d) S-W

Q.26: Hari in order to go to university started from his house in the East and
came to a crossing. The road to the left ends in a theatre, straight ahead is
the hospital. In which direction is-the university?

(a) North (b) South

(c) East (d) West

[3.554 | m [so[wed Scanner CA Foundation Paper - 3B ]

Answer:
(a) North

Uriversity

Q.27: After walking 6 km, | turned to the right and then walked 2 km. After

that | turned to the left and walked 10 km. In the end, | was moving towards

the North. From which direction did | start my Joumey?

(a) North (b) South
(c) East (d) West
Answer:
(b) South

Q.28: Ravi left home and cycled 10 km towards South, then he tumed right
and cycled 5 km and then again turned right and cycled 10 km. After this he
turned left and cycled 10 km. How many km. will he have to cycle to reach
his home straight? .

(a) 10 km (b) 15km
(c) 12km (d) 17 km
Answer:
A
< 10 D
10\ 10
C B

AE=DE+CB=15
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Q.29: Reena walked from A to B in the East 10 Feet. The she turned to the
right and walked 3 Feet. Again she turned to the right and walked 14 Feet.
How far is she from A?

(@) 4FT (b) 5FT
(c) 12FT (d) 13FT
Answer:

A 10FT B

3FT
D
14FT ———— C

AD=5FT

Q.30: One morning after Sunrise Nivedita and Niharika were talking to each
other face to face at Bara Chauraha. If Niharika's shadow was exactly to the
right of Nivedita, which direction Niharika was facing?

(a) North (b) South
(c) East (d) West
Answer:
(a) North
|
Nivedita
Niharika's | Niharika
Shadow

T

Q.31: If A x B means A is to the South of B. A + B means A is to the Nory, '

of B, A% B means A is to East of B, A—B means A is to the West of B, thep |
in P% Q + R-S, S is in which direction with respect to Q. G
(a) S-wW (b) S-E :

(c) N-E (d) N-W

Answer:

(b) S-E

Q.32: One morning after Sunrise, Suresh was standing jacing abole. The |
shadow of the bole fell exactly to his right. To which direction was he facing? i

(a) East (b) West
(c) North (d) South
Answer:
(d) South

Q.33: Four friends A, B, C, D live in a same locality. The house of B is in the

East of A’s house but in the North of C’s house. The house of C is in the A

West of D’s house. D’s house is in which direction of A’s house?

(a) S-E (b) N-E
(c) East (d) North
Answer:

(a) S-E

Q.34: Shyam walks 5 km towérds East and then turns left-and walks 6 km.

Again he tumns right and walks 9 km. Finally he turns to his right and walks
6 km. How far is he from the starting point? 4 :

(a) 26 km (b) 21 km.

x:) 14 km (d) 9km
nswer:

(c) 14 km

9.35: Amit started walking positioning his back towards the sun. After some
time, he turned left, then turned right and towards the left again. In which -

direction is he going now?

(a) North or South
(c) North or West
Answer: :
(a). North or South

(b) East or West
(d) South or West




L

0.36: Rohit walked 25 m towards South. Then he turned to his left and
walked 20 m. He then turned to his left and walked 25 m. He again turned to

nis right and walked 15 m. At what distance is he from the starting point and
in which direction?
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(a) 3dm East (b) 35 m North
(c) 30m West (d) 45 m East
Answer:

(a) 35 m East

Q.37: Village Q is to the North of the village P. The village R is in the East of

vilage Q. The village S is to the left of the village P. In which direction is the
vilage S with respect to village R?

(a) West (b) S-w
(c) South (d) N-W
Answer:
(b) S-W

Q.38: Sachin walk 20 km towards North. He turns left and walks 40 km. He.

again tuns left and walks 20 km. Finally he moves 20 km after turning to the
left. How far is he from his starting point.

(2) 20 km (b) 40 km
(c) 60 km (d) 10 km
Answer: ’
(a) 20 km

Q.39: Mohan starts from point A and walk 1 km towards South, turns left and
walk 1 km. Then he turns left again and walk 1 km. Now he is facing. -

(a) East (b) West
(c) North (d) South
Answer:
(c) North

Q.40: A starts from a point and walks 5 km North, turns left and waIk 3 km.
Again tumns left and walk 5 km. In which direction he is going how.

(a) North (b) South
(c) East (d) West.
Answer:

(b) South

® [solved Scanner CA Foundation Paper - 3B ' &l

Q.41: A man started walking West. He turned right, then right again and
finally turned left. In which direction he is going now?

(a) North (b) South
(c) West (d) East
Answer:
(a) North

Q.42: If a man on moped stans from a point and rides 4 km South then turns
left and rides 2 km and turn again ‘o the right to ride in which direction is he
moving?

(a) North (b) West
(c) East (d) South
Answer:

(d) South

Q.43: If X stands on his head with his face towards South, to which direction
will his left hand point?

(a) East (b) West

(c) North (d) South
Answer: }
(b) West

Q.44: If A stands on his head with his face towards North. In whlch direction

- will his left hand point?

(@) N-E (b) North
(c) East (d) N-w
Answer:
(c) East

Q.45: A car traveling from South.covers a distance of 4 km, then tums right

and runs another 5 km and again turns to the right and was stopped Which
direction does it face now?

(a) South (b) North
(c) West (d) East
Answer:
(a) South

et

S
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Q.46: Town D is 12 km towards the North of town A. Town.C is 15 km
towards the West of town D. Town B is 15 km towards the West of town A.
How far and in which direction is town B from town C?

" (@) 15 km towards North " (b) 12 km towards North

(c) 3 km towards South - (d) 12 km towards South
Answer: ’

(d) 12 km towards South

Q.47: Town D is to the West of town M. Town R is to the South of town D.

Town Kiis to the East of town R. Town K is towards which direction of town
D .

(a.) South

(b) East
- (¢) N-E (d) S-E
Answer:’ B
" (d) S-E

Q.48-49: A vehicle starts from point P andruns 10 km towards North. It takes

aright turn and runs 15 km. It now runs 6 km after taking a left turn, It finally
takes a left turn, runs 15 km and stops at point Q.
'Q.48: How far is point Q with respect to point P?

(@ 16km . (b) 25km

() 4km ' (d) 0km

Answer: .

(@) 16 km i ;
. Q.49: Towards which direction was the vehicle moving before it stopped at -
+ point Q?

(a) North (b) East

(c) South (d) West

Answer:

(d)- West S

Q.50: Dev walks 20 m towards North. He then turns left and walks 40 m. He
* again turns left and walks 20 m. Further, he moved 20 m after turning to the
right. How far is he from his original position? ki

(a) 20m (b) 30m
g:) 50 m (d) 60m
nswer:

(d) 60m

. left of S if T does not sit next to Q7

Y (b) Q
(¢ R @ T
_Answer:

(b) Q

" Q.54: Roza walked 25 m towards South, took a right turn and walked.‘1‘5 m. |

" right and walks 2 km, turns right again and walks. In which directionis she %

B | Solwed Scanner CA Foundation Paper - 3B o,
e "
)

Q.51-52: Aman went to meet his uncle in another village situated 5 km away
in the N-E direction of his own village from there he came to meet his father. :
in-law living in a village situated 4 km in the South of his uncle’s village.
Q.51: How far away he is? From his house.

(@) 3km (b) 4 km

(c) 5km (d) 6 km -
Answer:

(@ 3km . .

Q.52: Which direction he is now from his house?

(a) North (b) East

(c) South (d) West

Answer: g

{b) East i

Q.53: P,Q,R,Sand T are sitﬁng in a straight line facing North. P sits next to
S. Qs sitting next to R who sits on the extreme left corner. Who sits to the -

‘She then took a left turn and walked 25 m. She is in which directicn from
starting point: : ¥ & ;

(a) S-E “ (b) South
() sw A{d) N-w
Answer:
(c) S-w

Q.55: Swati starts from a point walks 2 km towards North, t_urns:tbv@:érds‘her. . |

goingnow? ., . . 3

(a) North (b) SE- E

(c) South (d) West "xeg
Answer: Yy
(c) South Yy
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0 56: After walking 6 km, | turned right and covered a distance of 2 km, then
umed left and covered a distance of 10 km. In the end, | was moving
jowards the North. From which direction did | start my Journey?

[ (a) North (b) South
(o) East (d) West
,?;'AnS.WE“
. (b) South

| Qs Rashmi leaves from her home. She first walks 30 m in N-W direction
'~ and then 30 m in S-W direction. Next, she walks 30 m in S-E direction.
inally, she turns towards her house. In which direction is she moving?

| (a) NE (b) N-w
() SE (d) S-w
L Answer:
(@) N-E

| 0.58: | am facing South. | turn right and walk 20 m. Then | turn right again

! ‘ and walk 10 m. Then I turn left and walk 10 m and then turning right walk
. 20m. Then | turn right again and walk 60 m. In which direction | am from the

 starting point?

| (a) North

| () East

. Answer:

 (0) NE , ;

| 0.59: A Walks 3 km North and then he turns left and goes 2 km. He again

e . tums left and goes 3 km. He turns right and walks straight. In whlch dlrec'uon
| is he walking now?

| (a) East
1 (0 North

(b) E-N
(d) N-E

(b) West
(d) South

(b) East ,
(d) North

Q.61: A boy start walking towards West he turns right and again he turns
right and then turn left at last. He is in which direction?

(a) West (b) Morth
(c) South (d) East
Answer:
(b) North

Q.62: A person moves 4 km towards West, then turns right and moves 3km
and then turn right and moves 6 km, which direction he is moving?

(a) East (b) West
(c) North (d) South
Answer:
(a) East

Q.63: | started walking down a road in the morning facing the Sun. After

walking for some time | turned to my left. Then | turned to my right. In which
direction was | going then?

(a) East (b) West
(c) North (d) South
Answer:
(a) East

Q.64: You go North, turn right, then right again and then go to left. In which
direction are you now?

(a) South (b) East
(c) West (d) North
Answer:’
(b) East

Q.65: Suman starts from a point, walks 2 km towards North, tums towards

her right and walks 2 km, turns right again and walks. What is the direction
she is facing now?

(a) East (b) West
(c) South (d) North
Answer:

(c) South
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Q.66: Ramu starts walking in the morning facing the sun. After sometime, he
turned to the left later again he turned to his left. Ramu is in which dlrectlon'i

(a) East (b) West

X:) South .(d) North
nswer:

(b) West

Q.67: Mr. A walks Southwards and then turn right, then left and then right. .

He is in which direction?

(a) South (b) North
(c) West (d) SN
Answer:

(c) West

Q.68: One morning, Rita started to walk toward the sun. After walklng a
while, she turned to her left and again to her left. She again turned right.
Which direction is she facing.now?

(a) East (b) West s
(c) North (d) South 9
Answer:

{c) North

Q.69: One day Nita left home and cycled 10 km Southwards. Turned.right
and cycled 5 km and turned right and cycled 10 km and turned left cycled 10
km. How many km will she have to cycle to reach her home straight?

(a) 10 km (b) 15 km
“(c) 20 km (d) 25 km .
‘Answer:
“(b) 15 km

.Q.70: A located to the West of B. C is located at North in between A and B.

D is exactly to the South of B and also in Ime with B. In which direction of C
is D located?

(a) South (b) S-E
(c) West (d) s-w
Answer: :

(b) S-E

~ (a) 40 km (b) 80 km'
_S;:) 5 km (d) 10 km
nswer: - -
(d) 10 km

Q.71: Deepak walks 20 m towards North. He turns left and walks 40 m,
again turns left and walks 20 m. Further he moves 20 m after turmng tothe

right. How far is he from his original position?

(@) 20 m (b) 60 m

(c) 50m (d) 30m

Answer: :
- (b) 60m

Q.72: Asha walks 3 km Southward and then turns right and walks 2 km. She &
again turns right and walks 3 km and turns towards her left and start walkmg A

straight. In which direction is she walking now?

(a) East (b) North
(c) South (d) West
Answer:
(d) West

Q.73: Madhuri travels 14 km Westwards and then turns left and travels 6 km

and further turns left and travels 26 km. How far is Madhuri now from the |

starting point?

(a). 180 km (b) y80 km
(c) y110 km (d) B0 km
Answer:

(a) 180 km

Q.74: Sohan drove 15 km to the West from his house, then turned left and :

drove 20 km. Again turned East and drove 25 km and finally tumning ieft
covered 20 km. How far he is from his house?

-Q.75: Sandesh starts dnvmg from point A'and drives 12 km towards Norih
He takes a right turn and drive 20 km. He now drives 8 km after taking a_lef
turn, Finally he takes a left turn and drives 20 km and stops at pomt B‘
far.is point A with respect to pomt B? -
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| p20okm (b) 10 km
F L (d) 9km
; Ansv\z)e:m

w2

PAST YEAR QUESTIONS AND ANSWERS

=

| ——
1| [018 - MAY

; [f] Laxman went 15 km to North then he turned West and covered 10 kms.
Then he turned South and covered 5 km. Finally turning to East he
covered 10 km. In which direction he is from his house. g

(a) East (b) West
(c) North {d) South (1 mark)
Answer:
" <« 10Km '
A X
5Km ) 15Km
Y LA ]
(c) 10Km ; w E.
Start ® S

Laxmen
Laxman is moving North direction now.

A& Amanis facing East, then he turns left and goes 10 meter then turns
| rightand goes 5 meter then goes 5 meter to the South and from there,
5meter to West; In which direction is he from his original place?

(a) East -+ (b) West

(¢) North (d) South (1 mark)

Answer:
5Km. - ;
AR > B N
) :
© 10Kn? < & w E

io ; g

North direction is he form his original place.

[3] X walks southwords and then turns right, then left and then right. In
which direction is he moving now?
(a) South (b) North
" (c) West (d) South-west . (1 mark)
Answer: :
() )
) r N
e y : w E
D(_C k : . S
he is moving in west direction. ;
[4] ‘Raman starts walking in the morning facing the Sun. After sometime, he

turned to the left, later again he turned to his left. In what direction is
Raman moving now? ) ‘
(a) East

(c) South

Answer: (b)

c(ﬁp"
—h

Pamen

(b) West

(d) North ¢ mérk)

Raman is moving now in West direction
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[5] 1stand with my right hand extended side-ways towards south. Towards ; |

which direction will my back be? ‘ 2018 - NovEmBER
(a) North (b) West : ;
() Eagt (d) South (1 mark) [7] Anoop Starts walking towards South. After walking 15 metres, he turns
Answer: . o b towards North. After walking 20 metres, he turns towards Eastand walks
® ) SRk 10 metres. He then turns towards south and walks 5 metres. In which
Notth ok direction is he from the original position. : E
A : ~ (a) North . (b) South LS o
i (c) East E (d) West (1 mark)
0 i ’ Answer:
B o @
§ \ . B 10m c N
«<Back " Face—
West < — >
L § 5m - E
Anoop o ’
g house [ 15m
; S
\ 4 ' A
South g ]
) ‘ ' Tl ] o ‘East direction is he from the original Position’.
[6] g_ou go North, turn right, _then right again and then goto the left..In which [8] Rahim started from point X and walked straight 5 km west, then turned
irection are you now? "~ leftand walk i i \ ight
_ r . eft and walked straight 2 km, then again turned left and walked straight
(a) South - 3 (b) East : 7 km. In which direction is he from the point X?
(c) West (d) North - (1 mark) © '(a) North-East (b) South-W :
Answer: E e s
; _ : (c) South-East + no(d). North-West (1 mark) -
A B N . Answer: o, ; : ‘
: : . ‘ (0)
(b) i ir 3 : ~5KM
S . : S : X
2KMY : & »\\_
You are in East direction. k - - RS N

7KM
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[10]
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A man started '{o walk‘ East, After moving a distance, he turned to his
right. After moving a distance, he turned o his right again. After moving
alittle he turned in the end to his left. In which direction was he going
now? '

(a) East (b) West
(c) North ' (d) South o - (1 mark)
Answer: .
B
A
() A

DL_‘\ c .
(d) He is going in south direction.
Manu wants to go to the market. He starts from his house towards
North and reaches a crossing after 30m. He turns towards East, goes
10m till the second crossing and turns again, moves towards South

straight for 30m where marketing complex-exits. In which direction is
the market from his house?

-(a) North ) (b) South
(c) East (d) West ) (1 mark)
Answer: : ‘
" o) N
A 10m B
£ w E’
8 ;
ol--- :
Mo houss S

Direction is the market from his house is east.

2019 - JUNE

[11] ,Sangjeeta leaves from her home. She first walks 30 meters in north-
west direction and then 30m in south west direction, next she walks 30
metres in south-east direction. Finally she turns towards her house. In
which direction is she moving now?

(@) North - West

(b). North - East

(c) South - East

(d) South - West y : (1 mark)
Answer:

(b) ‘
A N
W. E
B R Q
\\//I&’“m‘“‘* S
: C

Sangeeta is moving North — East direction.

[12] When a person faces north and walks 25m right then turns left and
walks 20m, and again turns right and walks 25m, and tums right, and -

walks 25m, and turns right and walks 40m, in which direction is he now
from his starting point?

(a) North —West
(b) North — East
(c) South — East
(d) South —West

(ll mark) .
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Anavar: [14] A perbon facing North moves 70° in clockwise direction. l:le again’
© d moved 300° in clockwise direction. In which direction is he facingnow?
3Sm (a) North — West "
7 W N Ne (b) South — East

20m . (c) North — East |

St T Lrggrm o W E (d) South ~West -(1 mark)
v WS SE Answer: ] R i i
2m ) (c) A person facing North first moves 70° and then 300°. Therefore, in '
< total, he moves 370°. We know that if a person moves 360° from

Finish 4m ’ )

his place, he would arrive at the same place from where he started
moving, because 360° makes a complete circle. This person has
moved a total of 370°, therefore, in effect, he would be displaced -
from his position by only 10°, as shown in the figure below:

[13] Madhuri moved a distance of 75 meters toward north. She then turned
to her left and walked for about 25m, turned left again and walked 80m.
Finally, she turned to her right at an angle of 45°. In which direction was

N
she moving now? ) (&
(a) South— East ) e
(b) South —West ] . / E
(c) North — West :
(d) North — East (1 mark)'
Answer:
(b) ¥

Therefore, he is facing Nonh-gast.

2019 - NOVEMBER

[15] Mohan started from a point and walked towards west. He took left to
reach Sohan'’s house. In which direction should he move to reach his
house: o
(a) North east ; 2
(b) South east
(c) South west
(d) North west




m—

‘;,.w—— [Chaptor =+ 10] Direction Sonso Tost|m [ 3573 | [ 8.574 | m [Solved Scanor CA Foundation Papor - 38 -
?\“S\mn [17] Aman startod from a point facing north, then turned left, then again left,
@ and then right. In which direction he is facing now?

N (a) East
(b) West
Moban's (c) North
w '[ < é s £ (d) South : (1 mark)
N A\E Answer:
Sa‘ms& e ®) » e
1
1 -
S 3 5 il
S Nt o

So, Mohan should move in north east direction from Sohan’s house to
reach his house. b

{15] A man stands on a point and starts walkin§ i&)ards nonh He then

tums left, then tums right, and then left. In which direction he is moving
now?

(a) West : (b) North HELee ;
{c) East : (d) South. . (1 mark)
Answer: : i )
(a)
North
Soutn

So, the man is moying in the west direction.

(18]

Y
L —
Sauth
He is facing west.

Rohan is driving cycle from house towards north, he tums left and then
left again. Which direction he is facing now?

(a) East (b) West

(c) North : (d) South (1 mark)
Answer: ; s :
(d North

. So Rohan is facing towards south.
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[19] Sun rises behind the tower and sets behind the railway station. In

which direction is the tower from railway station?

(a) North

(b) South

{c) East

(d) West (1 mark)

Answer:

(¢) Since the sun rises behind the tower. So tower is in east direction,
railway station is in west direction since sun sets behind it. So
tower is in east direction from the railway station.

2020 - NOVEMBER

[20] One day, Ram left home and cycled 10 km southward, turned right and

cycled 5 km and tumned right and cycled 10 km and turned left and
cycled 10 km. How many kilometers will he have to cycle to reach his
home straight?

(a) 10

(b) 15

(c) 20

(d) 25 (1 mark) -

Answer:
(b)
. 10km - Al .

10km Y 10km

[21] Amanisfacing west he turns 45 degrees in the clockwise direction and

[22]

3.576 |m [Solved Scanner CA Foundation Paper - 3B :’ 3

he have to cycle to reach his home from
‘E' =EA

=DE + DA

=10 km + 5 km

=15km

then another 180 degrees in the same direction and then 270 degrees
in the anticlockwise direction. Which direction is he facing now?

(a) South-west

(b) North-west

(c) West

(d) South (1 marg)
Answer: ]
(a) South-west directions

If you are facing North-east and move 10m forward, man left and move
7.5m, then you are — E
(a) North of your initial position
(b) South of your initial position
(c) East of your initial position
(d) None of the option




e
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Answer: )
(a) North of your Initial position

N iB IS S
75m
A
=
w. 1 E
. A ;

Aman can walk by having long, medium and short steps. He can cover
60 meters by 100 long steps, 100 meters by 200 medium steps and 80
meters by 200 short steps, he walks taking 5000 long steps, then he
turns left and walk by taking 6000 medium steps. He then turns right
and walk by taking 2500 short steps. How far (in meters) is he away
from his starting point?

(a) 5000 m

(b) 4000 m

(c) 6000 m .

(d) 7000 m (1 mark)
Answer: '

(a) Distance per long step = % =06m

Distance per medium step =% =0.5m

Distance per short step =§-x)-) =0.4m

The question hasn't mentioned the direction in which the man has
started walking, so we can assume any direction.

Let's assume that this man started walking in the East direction.
Since he took 5,000 long steps, he covered 5,000 x 0.6 = 3,000
metres.

Then, he turned left and walked by taking 6,000 medium steps:

This means he is now moving North, and he covered a distance of
6,000 x 0.5 = 3,000 meters.

Then, he turned right and walked by taking 2,500 short steps. This
means he is now moving towards East, and he covered a distance
of 2,500 x 0.4 = 1,000 metres.

The following diagram will make this clear:

1,000m

(o]
©» g
g : 8
3 13
A emmsmcmaas .: B
3000m 1,000m
We need to find AC.
As per Pythagoras’ Theorem,
AC?= AB? + BC?
- = AC= JABZ-BC?

= AC = /(4000 + (3000= 5000

2021 - JANUARY

[24] A man is facing west. He turns 45°in the clockwise direction and then
another 180°in the same direction and then 270°in the antl-clockmse
direction. Which is the facing now?
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(a) South-West [26] Ms. N walks 10km towards North from there she walks 6km.tow3m8 1
(b) North-West South. Then she walks 3km towards Egst. pr far and in Which |
(c) West . direction is she with reference to her starting point?
(d) South (1 mark) (a) 4 km West
Answer: (b) 6 km West
(a) South West N (c) 3 km East
(d) 5 km North/East (1 mark)
Answer:
(d) Here CA=(10—-6) km=4km
InLaACD
AD? = AC? + CD? T .
=4+ 32 o
=16+9 bl s 7
AD? =25 l e
[25] One day Ram left home and bi-Cycled 10 km southwards, turned right AD "= y25 2
and travelled Skm and turned right and went 10km he turned left and
went 10km how many kilometers he has to cycle to reach his home
straight? N
@) 10 2021 - JuLy
(b) 15
(c) 20 [27] There are four towns P, Q, R and T. Q'is to the South-West of P,Ris
(d) 25 (1 mark) to the East of Q and South-East of P and T is to the North of R in line
Answer: with QP. In which direction of P is T located?
b)  om o ... Fermts hame (a) North
® : xe o (b) North-East
(c) East ]
sk, 1 0 (d) South-East (1 mark)
c‘__rm-{a
Here DA=BC =5 km
EA=ED+ DA

=10km +5km = 15km
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Answer:
(b) N =
i o
W e ———»E
; .
s TP
Q sy n

(North-East) )
28] One moming after Sunrise, Vikram and Shailesh were standing in a

down with their back towards each other. Vikram’s shadow fell exactly

towards left hand side. Which direction was Shailesh facing?
(a) South-West :

(b) West

(c) South

(d) East-South (1 mark)

Answer: i .

(¢) Atter sunrise, sun wouid be on East. Therefore, the shadows will
be formed towards West. Since Vikram’s shadow fell towards his
left, that means Vikram'’s left is facing West. This means Vikram’s
rightis facing East, and Vikram’s face is facing North. Since Vikram
and Shailesh are standing with their backs towards each other,
their faces would be in opposite direction. Since Vikram’s face is
towards North, Shailesh’s face will be towards South.

[29]

[30]

A and B start moving towards each other from two places 200m apart.
After walking 60m, B turns left and goes 20m, then he turns right:and
goes 40 m. He then turns right again and comes back to the road on
which he had started walking. If A and B walk with the same speed,
what is the distance between them now?

(a) 80m
(b) 70m
(c) 40m PR
(d) 60m (1 mark)
Answer:
()
“5om m“ aanl
ATy F c -
. 20m 20m
E % D

Here AK + KF+ FC+CB=200m
60 + KF + 40 + 60 = 200
KF =200 - 60 — 40 — 60
KF =40

Now the distance b/w them is 40 km.

There are four towns P,Q,R,T. Qs to the south west, of P, Ris to the
east of Q and south-east of P and T is to the north of R in line with QP
In which direction P is located? .

(a) North

(b) North-East

(c) East : ;
(d) South-East - (1 mark)-
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Answer:
by . 2021 - DECEMBER
i .
: t A [82] A person walks 1 km (kilometre) towards West and then he tumg to
/ South and walks 5 km. Again, he turns to West and walks 2 km. After
<« B »E this he turns to North and walks 9 km. How far is he from his starting
R 4 point?
(a) 3km
Q (b) 4 km
)4 g : (¢) 5km . g
(d) 7 km (1 mark)
(North — East) I o Answer:
T is'North — East direction w.r.t ‘P’ ()

[31] Five Friends A, B, C, D, E are staying in the same locality. B's house

is to the East of A’s house and to the North of C's house. C’s house is
to the West of D's house. D's house is in which direction with respect .
to A’s house? ) . i : ey §
(a) North-East (b) South-East .
(c) North-West (d) South-West (1 mark) :
Answer: i A
(b)
o »8 skm{| Skm-
. 2km
In the AABC, we need to find out BC.
% As per Pythagoras’ Theorem,
S AD BC? = AB? + AC?

- BC = JABZ+AC?
~BC = (FFT@P =5
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133] Daily in the morning the shadow of a Clock Tower installed on Railway -

Station falls on high rise Mall and in the evening the shadow of the
same Mall falls on the Clock Tower installed on Railway Station exactly.
So'in which direction is Clock Tower to Mall?

(a) Eastern side (b) Western side

(c) Northern Side (d) Southern side

Answer:

(a) Sunrises in the East. Therefore, in the morning, the shadow of the
things located in East will fall towards West, and in the evening the
shadow of the things located in West will fall towards East.

Here, since the shadow of the Clock Tower falls on the Mall in the
morning, it means that Clock Tower is located on the Eastern side.
[34] R's office is 4 km. in East direction from his home and club is 4km. in

North direction from his home. On midway from office to club, R starts

moving towards his home. In which direction is he facing his back?

(é) South-East (b) North-West

_ (1 mark)

“(c) North-East (d) South-West (1 mark)
Answer: )
(c) Cub
: A
! 4 Back
| T (Noth-East)
4ln{ | @Widroint
Ay
] i Face
'_ml__ s i - ,ﬁi)aﬁw

4km
' Clearly, the back of R is towards North-East.
[35]° A man starts from a point, walks 4 miles towards North and turns left
and walks 6 miles, turns right and walks for 3 miles and again turns

right and walks 4 miles and takes rest for 30 minutes. He gets up and’
walks straight 2 miles in the same direction and turns right and walks -

one mile. What is the direction he is facing?

[ 3.586_| ® [so[ved Scanner CA Foundation Paper - 3B |
(a) North (b) South
(c) South-East (d) West (1 mark)
Answer:
(b)  4miles _, 2miks
i |1 e
\/
3niles
.. . o
6miles
4riles

Therefore, he is faciﬁg South direction.

[36] The hour hand of a clock is in west direction when time is 3'O clock.
What is the direction of minutes hand when time is 6:45?

(a) East (b) West
(c) North (d) South (1 mark)
Answer:
(a)
South Scuth
T Pl
/ & ) / \
/ \ /
East| > \vwa East| < )w&s
\'\ / .\\ ;‘f /
N, 4 NG 0 s
L P o \\-_//’
North Narth
When time Is 30 dock Whentime is 6:45 -
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Answer:
2022 - Sune : (a)

[37] A sign board pointing direction towards north due to heavy wind. The W E
points of sign word shows west instead of North. If a person moves to .
same direction of pointer. He moves 100 meter than turn left, and
moves 100 meter than again turn left and move 100 meter than he turn ;
right & moves 100 meter. In which direction he is now? N i Moo st obi
(a) West (b). East ‘ e
(c) North : : (d) South s (1 mark) ; 10k 10km
Answer: e '
@ O 15km P

: Distance b/w M and A =15 km - 5 km
by ¢ ’ =10 km
Direction ~ (North)

: : 1 [39] If there are 8 polls from A, B, C, D, E, F, G, H. Then B is to the Eastof ' |
fom ; : A, Cis to the South of B, D is to the West of C, E is to the South of D,

F is to the East of E, G is South of F, H is West of G. Then in whlch -

g : direction is H in respect to A. i

100m S : (a) North - (b) West

LB , S ) (¢) South (d) East (1 mark)
100 Answer: ! . e
: - (0 - : -
; ; | fe
He is in south direction from starting point ‘Now’ (
[38] If Ramu faces West and moves 5 km in the direction then takes a Ieft U g e
turn and moves 10 km then take another left turn and moves 15 km in E——>F " i
same direction then moves 10 km in the north direction and reaches CREY :
point A..What is the distance between the starting point and A and in ) He—
which direction is Ramu facing now? : Bl
(a) 10 km, North ) (b) 5 km,South - : ! ‘H"is the South of ‘A’

(c) 10 km, South : (d) -5 km, North (1 mark)




A

Ram left home and | LR .
f0] One day and cycled 10 km southward, turned right and
cycled 5 km and turned right and cycled 10 km and turned left t?) cycle

10 km. How many kilometers will‘he have to cycle to reach his home?’

e o
C 25 ’
Answer: (1 mark)
(c)
N ;
w+ :
s
10km A
EE DA e
10km 10km
< Skm (3

The distance b/w A & E = (10 + 5) km
. =15 km
‘15 km will he have to cycle to reach his house.
[41] A person facing in North moves 70° in clockwise direction. He again
moved 300° in anti clockwise direction. In which direction is he facing

now?

(@) North - West (b) South - East .

(c) North - East (d) South - West (1 mark) -
Answer:

(b) Person facing south-east
N
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2022 - December

[42] Radha moves towards South-East a distance of 7 km, then she moves

3]

towards West and travels a distance of 14 km. From here she moves
towards North —West a distance of 7 km. and finally she moves a
distance of 4 km. towards East. How far is she now from the starting
point? . .

(a) 3 km.
(b) 4 km.
(c) 10 km.
(d)- 11 km.
Answer:

C,
© o K-4km E _ Feda,

(1 mark)

N

7kmn

Here,
BC =DA
BC=0E + EA
14km =4 km + EA
EA=14km-4km
EA=10km

One morning a boy starts walking in a particular direction for 5 Km and
then takes a left turn and walks another 5 Km. thereafter he again-
takes left turn and walks another 5 Km and at last he takes right tury
and walks 5 Km. Now he sees his shadow in front. of ‘him. What
direction he did start initially? :
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[44]

(a) South
(b) North’
(c) West
(d) East (1 mark)
Answer:

(b)

* e A (Stting poirt)

‘North direction he did start initially.

It is 3’0 clock in a watch. If the minute hand points towards the
North-East then the hour hand will point towards the:

(a) South

(b) South —West

(c) North—- West

(d)- South — East (1 mark)
Answer:

C) ' ”

If t_he minute hand points towards North-East then the hour hand wil
point towards the South-East. :

[45] A man is facing West. He turns 45 degree in the c'lockwise direction
and then another 180 degree_in the same direction and then 279
degree in the anticlockwise direction.

Find which direction he is facing now?

(a) South-East

(b) West

(c) South

(d) South-West . (1 mark)

Answer:
270°Anti Clock Wise w ’ E
\

(d)
6 ﬁ\’%.

Clock Wise Ciock Wise

Now he is facing south-west.




